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Minimization of Error Programs for Random Testing of C Compilers Targeting Arithmetic Expressions
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#include_ <
c%ggtuvglaigfe un51gned char x1 = 2U

const volatile signed long long x6 =
static const unsigned short x8 = H
int main (void)

1476669LL

int rc = 0;
signed long long test =

test = (((x8*(x6<<x8))>-x1)/x6)
if (test == OLL)

printf("0K, %11d\n",test);
else {

rc = 1;

printf("NO, %11d\n",test);

return rc;
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#includ
céggtuvglaggie 51gned long long x6 =

int main (void)

1476669LL;

int rc =

51gned long long test = 0;

test = (x6<<(signed 1nt)35)

if (test == 50737960496136192LL) {
printf("0K, %11d\n",test);

else {
rc = 1;
printf("NO, %11d\n",test);

return rc;
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